o
G¥ = A g¥er  xnopd e
= a a a kimn popklmn
area klmn
Garea,l’ _ [e) [} aarea’r X O area,r
= a a Kmn p pklrm
area kimn
Garea,r , Garea,r area r
aareai(Tmn ’aa!eadmn area r
popere area K,l,mn
Kl.mn 14 15 64 65
area
r
o

G™®' = weekday>G™®"  holiday>G**"

weekday holiday
250 115
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10

46
7
5 500
60 500 700
80
20 50
20 90
20 50 20 800
10
20
20 1,000
o 80 10 700
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11

1999
1999
1998
1999

10 11

10

10

11 11

11 11

" 1
11

11

" 1

1 11

" 1
11

11
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144 2,993 18 1,983
59 107
38 42

8 620 8 620

28 920 28 920

34 291 32 285

19 48 11 34

14 45 8 29

344 5,067 105 3,870
15 64 0.75 0.00 0.95 0.58 0.28 0.02
0.72 0.00 0.87 0.20 0.18 0.01
65 0.40 0.00 0.98 0.59 0.42 0.04
0.34 0.00 0.78 0.28 0.40 0.03
15 64 0.72 0.00 1.09 0.20 0.68 0.01
0.72 0.00 0.96 0.10 0.42 0.01
65 0.35 0.00 0.89 0.30 0.68 0.03
0.25 0.00 0.76 0.20 0.55 0.03
14 0.00 0.95 117 0.00 0.33 0.02
15 64 0.00 0.59 0.96 0.00 0.90 0.04
0.00 0.59 0.96 0.00 0.32 0.01
65 0.00 0.00 0.92 0.00 1.15 0.13
0.00 0.00 0.54 0.00 0.63 0.04
14 0.00 0.95 117 0.00 0.34 0.01
15 64 0.00 0.19 1.07 0.00 142 0.03
0.00 0.19 0.86 0.00 0.74 0.03
65 0.00 0.00 0.87 0.00 118 0.07
0.00 0.00 0.58 0.00 0.71 0.03
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1999

15 64 3;4_)615 397
2i 430
65 = 33
742
15 64 % 293
> 312
65 19
16
12 119 110
19
15 64 = 110 “o1
65 25 72
a7 777
12 114 114
113
15 64 = 234 477
6
65 = 129
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1999

1995
1999

a)1995
1995 1995

b)1999
11 10 1999
. ” 1995 2000
1999
1999
©) ( )
11 10 1999
1999 1999 10

1999
1999 1995
1999 ( ))

1995
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1999
1999
1999

1999

1999

15 64

1999

32




[}
T = a a; W,
i
r _ [o]
T, =a &, XN,
i
;= Q905 d; /di;005
d, =a, + b, xGDP, / POP,

10

20 30km 179

207

179
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GDP

207



65 65

2
1995
1984 1986 1988
1990 1992 1994
RZ
a B
0.303 1.40 0.000294 4.47 0.83
-0.363 -1.35 0.000458 5.63 0.89
1995
65 65 65 65
29.12 28.66 4.30 3.69
/ / 16.82 22.66 8.84 6.96
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